Middle East Journal of Applied Sciences Volume: 13 | Issue: 03 | July –Sept. | 2023

EISSN: 2706 -7947 ISSN: 2077- 4613 DOI: 10.36632/mejas/2023.13.3.28 Journal homepage: www.curresweb.com Pages: 422-440



Integrated study of groundwater aquifers and productive wells for sustainable development in El-Kharrouba area North East Sinai Peninsula, Egypt

Kamal A. A. Abu-Zied

Hydrology I	Department, Desert Research Center,	Cairo, Egypt.
Received: 25 July 2023	Accepted: 30 August 2023	Published: 10 Sept. 2023

ABSTRACT

During this work, an approach was made to determine and evaluate the hydraulic parameters of the water bearing formations in El-Kharrouba area, so eight pumping tests and six recovery tests were carried out on selected wells. Field data were analyzed by two different ways and the results pointed to that Marine Kurkar aquifer reflects wide range of Transmissivity ranged from 612.7 to 7789.73m²/day, this aguifer has high potentiality. Moreover, the hydraulic conductivity ranges from 3.287 m/day to 121.617m/day, which pointed to a high permeability property. While as, the hydraulic diffusivity "D" values ranged between 6.514E10⁶ m²/day and 7.968E10²⁸ m²/day. Therefore, El Kharrouba area is characterized by high estimated values of hydraulic diffusivity, which reflects suitable conditions for sustainable reclamation projects under modern irrigation systems. On the other hand, twelve step-tests were carried out and analyzed to evaluate well characteristics and design criteria, using manual, graphical and software analysis methods. The well characteristics within studied area pointed generally to bad design criteria which lead to a well failure. As, wells of numbers (23 and 25) have very bad design criteria because, they have very high values of well loss percent (56.30% and 56.72%) respectively) with low values of efficiencies (43.70% and 43.28% respectively). Also, wells of order (20, 22 and 28) reasonable (moderate) design criteria. also, wells of numbers (19 and 30) have good design criteria. While, the rest wells of orders (21, 24, 26, 27 and 29) have abnormal hydraulic behavior because they have unusual values of productivity (5.56%, 2.53%, 2.02%, 4.39% and 4.17% respectively) in spite of they have moderate to good values of efficiencies (56.77%, 97.22%, 81.88%, 51.07% and 69.15 respectively) and low to moderate values of well loss percent (43.23%, 2.78%, 18.12%, 48.93% and 30.85% respectively). So, more and deep studies are highly recommended to explain and investigate this abnormal hydraulic behavior.

Keywords: Aquifer hydraulic parameters, Water level, Transmissivity, Hydraulic conductivity, Storativity, Diffusivity, Well characteristics.

1. Introduction

The present work is an approach to evaluate the sustainability of water resources in the promising study area. Water demands are increasing and the groundwater potentialities could be used as a main potential source for all different activities. The success of suggested development practices is dependent on the availability and reliability of basic hydrological and well managements as an integrated method. The first part of study focused on hydrological aspects of study aquifers, so key map and distribution maps of different tests for selected wells and all aquifer hydraulic parameters contour maps were prepared. Furthermore, the second part of study gave more attention to well operation, well characteristics and its design criteria, to get proper and suitable management plans for present and future investments.

Corresponding Author: Kamal A. A. Abu-Zied, Hydrology Department, Desert Research Center, Cairo, Egypt. E-mail: abuzeidkamal1964@yahoo.com

Site Description

The study area occupies an important part of northeastern coast of Sinai Peninsula, between El-Arish city and El-Sheikh Zowyed city. It covers the area between latitudes 31° 06' 00" to 31° 12' 00" N and longitudes 33° 55' 00" to 34° 01' 00" E, (Fig. 1).



Fig. 1: Key map of the study area

Geomorphologically

The study area is characterized by desert and arid conditions. This appears in a number of land features. It is represented by accumulation of drift sand, the development of yellow desert soils and the lack of natural vegetation. The area under investigation is characterized by moderate relief with elevation varying from about Sea level to less than 1000m. From Geomorphologic point of view, Sinai Peninsula includes the following main units Fig. (2):

- 1 The Southern Mountainous Region, which is composed of igneous and metamorphic rocks of Precambrian age.
- 2 The Central Table Lands, which include two plateaux:

a – El Tih plateau is composed of Cretaceous limestone, with shale and sandstones at the base, Hammad, (1980).

b – El Egma plateau, chalky carbonate rocks of Eocene age

3 – The Mediterranean coastal plain, where the investigated area lies within it and extends in the entire width of northern Sinai. This unit is bounded on the north by the Mediterranean Sea and on the south by the central high lands.

The Digital Elevation Model (DEM)

The DEM of the investigated area showed that this area lies within a low land area, Fig. (3), discusses minimum and maximum values. Where, the minimum and maximum elevation values measured are 19.98m and 68.7m respectively.



Fig. 2: Geomorphological map of NortheastFig. 3: The Digital Elevation Model (DEM)Sinai Peninsula.Northeast Sinai Peninsula.

Geologically

There are many studies and publications investigated the geology of Sinai Peninsula. The geological structure, distribution of major formations and their stratigraphy and lithology may have direct implications on the hydrogeological conditions in the area. According to Jica 1992, [8]. The study area is covered by Quaternary deposits which consist of sand dunes, old beach sand and calcareous sand stone (Kurkar formation), Fig. (4).



Fig. 4: Geological map of North East Sinai (after RIWR, 1988).

The thickness of these deposits is about 80–100m. The structural elements were given by RIWR (1988). It is considered as a base map in the present study for detecting the main faulting and folding systems Fig. (5).



Fig. 5: Major structural elements in El-Arish-Rafah area (after RIWR, 1988).

Hydrogeologically

The area of study (El-Kharrouba) is characterized by an aquifer system belonging to the Quaternary (Holocene and Pleistocene), Fig. 6. The Pleistocene aquifer (The Calcareous Sand Stone (Kurkar Aquifer), is the main aquifer. It is considered as a type of calcareous sand deposits broadly distributed in the coastal plain. This aquifer is represented by 25 drilled water points within the study area (El-Kharrouba). This aquifer is characterized by unconfined to semi-confined conditions, where the depth to water varies from 12.4 m to 68.65 m. Water level ranges from +3.3 to +48.17m, see Figure 7.





Fig. 7: Water level contour map within the study are

Moreover, the Kurkar unit is underlained by the Pre-quaternary sediment mainly consisting of shale, sandstone, and /or limestone. Also, the Kurkar is overlained by a thick bed of clays where a confined aquifer conditions are developed. It occupies the most part of the bottom of the Quaternary in the study area. However, the extension of the clay bed is limited, so the hydraulic connection between the Kurkar aquifer and the overlying aquifer is observed. Generally, From Water Level (WL) contour map Fig. 7, the ground water flows northward towards the Mediterranean Sea.

Impact of the structures on groundwater occurrence

The previous studies elucidated that the structural setting has a direct impact on the occurrence and flow direction of groundwater. So, it's urgent to draw a general view of the hydrogeological setting of the study aquifers, Fig. 8.



Fig. 8: Hydrogeological cross section from West to East (after Gedamy, 2004).

Materials and Methods

Several field trips were arranged to perform in field works, this included the following:

- 1- Collecting the hydrological data in the study area.
- 2- Collecting the wells lithological data and well design parameters (total depth, screen length, well design assembly and well diameter) within study area.
- 3- Measuring the SWL and well drawdown (by using the sounder instrument).
- 4- Determine the location & ground elevation (by using GPS instrument),
- 5- Carrying out twelve step tests for available productive wells and eight pumping and six recovery tests of main aquifer, Fig. (9).



Fig. 9: Shows the selected wells for pumping test (also step and recovery tests).

- 6- Detecting errors of field data and/or calculation procedures, by which, the designer can use next equation as a check way for the field data or/and calculations, $[s_W\% + \eta_W] = 100\% = 1$
- 7- Analyzing the tests data of tested wells by using both of software (such as GWW software), manual analysis methods also, Rorabough method,
- 8- Preparing of distribution maps and/or tables of hydraulic parameters assessment.
- 9- Evaluating and assessment both of well characteristics (well hydraulic parameters) and design criteria using (different classification methods such as Zekai Sen 1995 and Hawash 2012).
- 10- Detecting the state of wells design criteria; if bad, moderate or good.
- 11- Redesigned cases for some wells of bad design criteria, using more scientific and ideal procedures.
- 12- To get the main equation factors B and C values, it's urgent to solve the main equation as follows;

-First: Manual Graphical Method (see Fig. 16); this method didn't use any value of correction factor to get best fitting line. Now, to get the main factors B and C values (Table 2), it's urgent to solve the main equation as follows;

Total drawdown calculated $\mathbf{s} = (\mathbf{B}\mathbf{Q} + \mathbf{C}\mathbf{Q}^2)$ 1

divide by Q to get linear relation; then, Specific drawdown (s/Q) = (B + CQ).....2

So, plot (s/Q) versus Q, to get best fitting line, (Jacob & Bierschink 1964), Where, B: is the line intercept with Y axis and C: is the line slope.

-Second: GWW software Method (see Fig. 17);, this method always use correction values about 15%-20% of correction factor to get best fitting line.

plot (s) versus (Q), to get B & C then; well loss (s_w) and formation loss (s_f) also well efficiency (η_w)(Gww version 1998),

-Third: Rorabough Method (see Fig. 18),

 $s = (BQ + CQ^{n}) \dots \text{ divide by } Q \dots (s/Q) = (B + CQ^{n-1}) \dots \text{ then;}$ $Log[(s/Q) - B] = (n-1) Log(CQ) \dots Log[(s/Q) - B] = (n-1) Log(C) + (n-1) Log(Q)$ So, plot [(s/Q) -B] versus Q in Log-Log paper as assuming B values to get best fitting line.Where, Line Slope = (n-1) and C = Line intercept with Y axis.

3. Results and Discussion

3.1. Aquifer hydraulic parameters

During the present work, an approach was made to determine and evaluate the hydraulic parameters of the water bearing formations. In order to achieve this goal, eight pumping tests and six recovery tests were carried out on selected wells, Fig. 9. So, the field data were analyzed by two different methods, by applying Cooper and Jacob analyzing method. Also by applying Aquifer Test Pro. software (Waterloo). The resultant values of different methods and average values were showed in Figures from 10 to 13 and Tabulated in Table 1.



Fig. 10: Analyzing pumping test field data by applying Cooper-Jacob method, W19 & W27.



Fig. 11: Analyzing pumping test field data by applying Aquifer test pro. Software, W19.

- Pumping test Well 27



Fig. 12 : Analyzing pumping test field data by applying Aquifer test pro. Software, W27.





well no.	Q m ³ /day	Taverage (m ² /day)	Koverage (m/day)	S avarage	D diffusivity = (T / S)average
19	141	1632.3	27.7	1.46*10-15	1.118 *10*18
20	240	651.4	16.3	1*10-4	6.514 *10*6
21	233	7789.7	121.5	4.17*10-5	1.868 *10*8
22	233	740.9	24.7	2.71*10*20	2.734 *1022
23	140	612.7	12.2	7.68*10*27	7.978 * 10*28
24	130	343.2	6.8	1*10*21	3.433 *10*23
25	383	1097.4	47.5.	1.75*10***	6.271 *10 ^{*12}
27	99	65.8	3.28	7.64*10*15	8.6178 *10*15

Table 1: The average calculated hydraulic parameters of the studied aquifer

- Furthermore, the values of the hydraulic parameters by the present work, used for compiling distribution maps of aquifer different hydraulic parameters such as; Transmissivity (T), Fig. 14, Storage coefficient (S), Fig. 15, hydraulic conductivity (K), Fig. 16 and Diffusivity (D), Fig. 17.



Fig. 14: Transmissivity (T) contour map

1



Fig. 15: Storativity (S) contour map

Moreover, the higher Transmissivity values tend to be indicative of higher aquifer potentiality, (Jacob, 1944), [9]. These phenomena could be attributed to the impact of structural setting, variations of aquifer thickness and heterogeneity of aquifer sediments. Because of the marine Kurkar aquifer reflect wide range of Transmissivity (612.7 to 7789.73 m²/day), the Marine Kurkar aquifer is of high potentiality, based on classification of Georhage, 1979, [3], Table 2. The storage coefficient "S" values of the Marine Kurkar aquifer ranged between 7.68E-27 and 1.68E-04, in addition, the increases of "S" directions may be attributed to the decrease of clay content in these directions, which gives a good chance of high Storativity.

Table 2: Classification of Aquifer potentiality (Georhage, 1979)

Potentiality of the aquifer	Transmissivity (m²/day)
High	> 500
Moderate	50 - 500
Low	5 - 50
Very low	0.5-5







On the other hand, the hydraulic conductivity "K" values of the Marine Kurkar aquifer vary from a well to another. It ranges from 3.287 m/day to 121.617m/day, which pointed to high permeability property of kurkar aquifer. In addition, the hydraulic diffusivity D is the result of dividing the Transmissivity (T) by Storativity (S) (Kranz et al., 1990). The hydraulic diffusivity "D" values of the Marine Kurkar aquifer ranged between 6.514E10⁶ m²/day and 7.968E10²⁸ m²/day. So, El Kharrouba area is characterized by high estimated values of hydraulic diffusivity and this reflects suitable conditions for sustainable reclamation projects under modern irrigation systems.

2- Well Hydraulic parameters and performances

In order to determine and evaluate well hydraulic parameters twelve step drawdown tests were carried out on available productive wells, Fig. 9. So, the field data were analyzed by three different methods, by applying manual or graphical method and by applying GWW software also by applying Rorabough method respectively. The resultant values of different methods and average values were showed in Figures from 18 to 21 and Tabulated in Tables from 3 to 6.



Fig. 18: Graphical or Manual method and its different parameters for well no. 27.



Fig. 19: GWW software method and its different parameters for well no. 27.

Table 3: Rorabough method and its calculation procedures for well no. 27

Step	s	Q	s/Q	B = 0.08	B = 0.12	B = 0.16	B = 0.20	B = 0.22
1	1.88	8	0.235000000	0.155000000	0.115000000	0.075000000	0.035000000	0.015000000
2	3.14	13	0.241538462	0.161538462	0.121538462	0.081538462	0.041538462	0.021538462
3	5.25	18	0.291666667	0.211666667	0.171666667	0.131666667	0.091666667	0.071666667
4	7.2	22	0.327272727	0.247272727	0.207272727	0.167272727	0.127272727	0.107272727
	L	ine No).	1	2	3	4	5





Fig. 21: Flow-chart elucidates evaluation well design parameters for different results of step test analysis method and its procedures (after Rabi, 2021).

	Step	D.D.	Discharge	Specific D.D	Manual	Method	
NO:	No:	s	Q	(s/Q)	В	С	
		m	(m ³ /hr)	hr/m ²	hr/m ²	hr²/m ⁵	
	1	0.28	8.00	0.035000	0.02320	0.00022	
11/10	2	0.74	13.00	0.056923	0.02320	0.00022	
W19	3	1.23	18.20	0.067582	0.02320	0.00022	
	4	1.52	21.80	0.069725	0.02320	0.00022	
	5	1.76	24.40	0.072131	0.02320	0.00022	
	1	2.21	5.00	0.442000	0.34270	0.01510	
W29	2	4.22	9.20	0.458696	0.34270	0.01510	
	3	6.28	12.50	0.502400	0.34270	0.01510	
	4	8.3	14.80	0.560811	0.34270	0.01510	
	5	9.78	15.86	0.616646	0.34270	0.01510	
	1	1.35	19.00	0.071053	0.06060	0.00050	
W30	2	2.25	29.40	0.076531	0.06060	0.00050	
	3	3.35	40.60	0.082512	0.06060	0.00050	
	4	4.4	50.00	0.088000	0.06060	0.00050	

Table 4: Different hydraulic coefficients (B & C) for some studied wells.

Table 4: Continued

	Step	D.D.	GWW S	oftware	Rorabou	gh Method	Average Value		
NO:	No:	S	В	С	В	С	В	С	
		m	hr/m ²	hr²/m⁵	hr/m²	hr²/m⁵	hr/m ²	hr²/m ⁵	
	1	0.28	0.03061	0.00177	0.02800	0.00030	0.02727	0.000766	
W19	2	0.74	0.03061	0.00177	0.02800	0.00030	0.02727	0.000766	
	3	1.23	0.03061	0.00177	0.02800	0.00030	0.02727	0.000766	
	4	1.52	0.03061	0.00177	0.02800	0.00030	0.02727	0.000766	
	5	1.76	0.03061	0.00177	0.02800	0.00030	0.02727	0.000766	
	1	2.21	0.07673	0.00155	0.10000	0.00140	0.17314	0.006017	
W29	2	4.22	0.07673	0.00155	0.10000	0.00140	0.17314	0.006017	
	3	6.28	0.07673	0.00155	0.10000	0.00140	0.17314	0.006017	
	4	8.3	0.07673	0.00155	0.10000	0.00140	0.17314	0.006017	
	5	9.78	0.07673	0.00155	0.10000	0.00140	0.17314	0.006017	
	1	1.35	0.06028	0.00055	0.02400	0.00020	0.04829	0.000418	
W30	2	2.25	0.06028	0.00055	0.02400	000020	0.04829	0.000418	
	3	3.35	0.06028	0.00055	0.02400	0.00020	0.04829	0.000418	
	4	4.4	0.06028	0.00055	0.02000	0.00020	0.04829	0.000418	

Table 5: Well characteristics	s resulted in all methods a	and its calculation proc	edures for all tested wells

Well	Step	Measured	d D.D.	Discharg	0	Specific I).D	Average \	/alue		Well Loss	F	ormatio	n Loss	Total los	s Well loss	percent	well effic	iency
NO:	No:	S	Q	(s/Q)	В	C	C*02 .	(m)	sf=B*Q	m	(sw+sF)m	s	W% =	(sw /s)	(sF/s)		Q/s	Q/sF	(Q/s)
		m	(m3/hr)	hr/m2	hr/m2	hr2/m5	SW	sF	S	SW %	Effi)w %		(m2/hr)	(m2/hr)	Effi)w 9	6			
W19	1	0.28	8.00	0.035000	00	0.027270	0.000766	0.049024	0	0.218160	0 0.2	671840		18.35	81.65		29.942	36.670	81.6
	2	0.74	13.00	0.056923	31	0.027270	0.000766	0.129454	0	0.354510	0.4	839640		26.75	73.25		26.862	36.670	73.2
	3	1.23	18.20	0.067582	24	0.027270	0.000766	0.253729	8	0.496314	0.7	500438		33.83	66.17		24.265	36.670	66.17
	4	1.52	21.80	0.069724	18	0.027270	0.000766	0.364033	В	0.594486	0.9	585198		37.98	62.02		22.743	36.670	62.02
	5	1.76	24.40	0.07213	11	0.027270	0.000766	0.456045	8	0.665388	0 1.1	214338		40.67	59.33		21.758	36.670	59.33
W 20	1	0.67	7.20	0.09305	56	0.080040	0.002026	0.105045		0.576288	0.6	813331		15.42	84.58		10.568	12.494	84.58
	2	1.57	13.42	0.116989	6	0.080040	0.002026	0.364935	3	1.074136	8 1.4	390721		25.36	74.64		9.325	12.494	74.64
	3	2.355	19.08	0.123427	17	0.080040	0.002026	0.737679	i i	1.527163	2 2.2	648426		32.57	67.43		8.424	12.494	67.43
	4	3.29	23.99	0.137140	05	0.080040	0.002026	1.166195	6	1.920159	6 3.0	863552		37.79	62.21		7.773	12.494	62.2
W 21	1	2.29	18.36	0.124727	17	0.109233	0.002320	0.782047	9	2.005524	2.7	875719		28.05	71.95		6.586	9.155	71.9
	2	4.23	32.48	0.130234	10	0.109233	0.002320	2.447484	9	3.547898	7 5.9	953836		40.82	59.18		5.418	9.155	59.18
	3	6.29	45.36	0.138668	84	0.109233	0.002320	4.773468	7	4.954824	9.7	282927		49.07	50.93		4.663	9.155	50.93
W 22	1	1.25	10.23	0.12218	96	0.071400	0.002175	0.227654	9	0.730422	0.9	580769		23.76	76.24		10.678	14.006	76.24
	2	2.05	15.23	0.134602	28	0.071400	0.002175	0.504574	9	1.087422	0 1.5	919969		31.69	68.31		9.567	14.006	68.3
	3	2.73	19.30	0.141450	08	0.071400	0.002175	0.810289	9	1.378020	2.1	883099		37.03	62.97		8.820	14.006	62.97
	4	3.57	23.70	0.150632	29	0.071400	0.002175	1.221863	0	1.692180	2.9	140430		41.93	58.07		8,133	14.006	58.07
W 23	1	0.5	8.10	0.061728	84	0.039247	0.003006	0.197201	B	0.317898	0 0.5	150998		38.28	61.72		15.725	25.480	61.72
	2	0.86	13.00	0.066153	38	0.039247	0.003006	0.507957	7	0.510206	7 1.0	181643		49.89	50.11		12,768	25,480	50.11
	3	1.25	17.20	0.072674	14	0.039247	0.003006	0.889196	1	0.675042	7 1.5	642391		56.85	43.15		10.996	25,480	43.15
	4	1.98	22.00	0.090000	00	0.039247	0.003006	1.454742	7	0.863426	7 2.3	181693		62.75	37.25		9,490	25,480	37.25
W 24	1	1.51	4.00	0.377500	00	0.386833	0.000756	0.012103	0	1.547333	3 1.5	594363		0.78	99.22		2.565	2.585	99.2
	2	4.55	11.00	0.413636	84	0.386833	0.000756	0.091528	8	4.255166	7 43	466955		2.11	97.89		2.531	2,585	97.85
	3	6.37	15.70	0.40573	25	0.386833	0.000756	0.186454	1	6.073283	3 62	597374		2.98	97.02		2,508	2.585	97.0
	4	7.39	18 20	0.406044	10	0.386833	0.000756	0.250562	1	7 040366	7 72	909287		3.44	96.56		2 4 96	2 585	96.56
W 25	1	0.6	11.50	0.052173	39	0.038973	0.001032	0.136521	7	0.448193	3 0.5	847150		23.35	76.65		19.668	25,659	76.6
	2	1.38	24.30	0.056790	01	0.038973	0.001032	0.609562	B	0.947052	15	566148		39.16	60.84		15.611	25,659	60.84
	3	25	38.70	0.064599	95	0.038973	0.001032	1.546065	í.	1.508268	30	543334		50.62	49.38		12 671	25 659	49.3
	4	4.45	56.80	0.07834	51	0.038973	0.001032	3.330447	6	2,213685	3 55	441329		60.07	39.93		10.245	25,659	39.9
	5	5.84	65.52	0.089133	31	0.038973	0.001032	4,431530	í	2 553532	6.9	850629		63.44	36.56		9,380	25,659	36.56
W 26	1	4.85	6.80	0.71323	53	0.408733	0.009064	0.419134	8	2,779386	7 31	985214		13.10	86.90		2.126	2 447	86.90
	2	6.42	8.70	0.73793	10	0.408733	0.009064	0.686079	í.	3 555980	42	420594		16.17	83.83		2.051	2 447	83.8
	3	7.68	10.24	0.750000	00	0.408733	0.009064	0.950464	2	4 185429	3 5.1	358936		18.51	81.49		1.994	2.447	81.45
	4	87	12.40	0 701612	29	0.408733	0.009064	1 393731	9	5.068293	3 64	620252		21.57	78.43		1.919	2 447	78.4
W 27	1	0.73	23.00	0.03173	91	0 124700	0.002718	1 437822	n	2 868100	1 43	059220		33.39	66 61		5 341	8.019	66.61
	2	1.09	33.00	0.033030	13	0 124700	0.002718	2 959902	n i	4 115100	7.0	750020		41.84	58.16		4.664	8.019	58.16
	3	1.68	47.00	0.035744	17	0.124700	0.002718	6.004062	0	5,860900	0 11.	864962	0	50.60	49.40		3.961	8.019	49.40
	4	2 11	56.40	0.037411	3	0 124700	0.002718	8 645849	3	7.033080	15	678929	3	55.14	44.86		3.597	8.019	44 86
W 28	1	0.92	16.75	0.05492	54	0.042057	0.000641	0 179943	4	0 704449	2 0.8	843926		20.35	79.65		18 940	23 777	79.6
	2	1.91	32.40	0.058950	06	0.042057	0.000641	0.673281		1.362636	20	359171		33.07	66.93		15.914	23,777	66.93
	3	37	56 16	0.06588	32	0.042057	0.000641	2 022835	8	2 361902	4 43	847380		46 13	53.87		12 808	23 777	53.87
	4	4.65	67.39	0.069001	13	0.042057	0.000641	2 912710	3	2 834198	8 57	469091		50 68	49.32		11 726	23 777	49.3
W 29	1	2 21	5.00	0.442000	10	0 173143	0.006017	0 150433	3	0.865716	7 10	161500		14.80	85 20		4 921	5 776	85.20
11 20	2	4 22	9.20	0.458694	57	0 173143	0.006017	0 509307	í	1 592918	7 21	022258		24 23	75 77		4 376	5 776	75 7
	3	6.28	12.50	0.50240	0	0 173143	0.006017	0.940208	3	2 164201	7 31	045000		30.29	69 71		4 026	5 776	69.74
	4	83	14.80	0.560810	18	0.173143	0.006017	1 318036	7	2 562521	3 3.9	805580		33.97	66.03		3.814	5 776	66.0
	5	9.78	15.86	0.61664	56	0 173143	0.006017	1 513507	8	2 746052	3 42	596500		35.53	R4 47		3 723	5 776	64.41
W 30	1	1.35	19.00	0.07105	26	0.048203	0.000418	0.150717	5	0.917573	3 10	682908		14 11	85 89		17.785	20 707	85.80
11 00	2	2.25	29.40	0.07652	16	0.048203	0 000418	0 360870	3	1 410824	17	806043		20.27	79 73		16 510	20 707	79.7
	3	3 35	40.60	0.082512	23	0.048203	0.000419	0.699100	2	1 060700	2 26	ARROOK		25.98	74 02		15 327	20.707	74.0
	A	4.4	50.00	0.002012	0	0.048203	0.000419	1 043750	ň	2 414666	7 24	584167		30 18	69.82		14 457	20 707	69.8
	-	1.1	00.00	0.00000		0.0102.00	0.000410	1.0101.00	·	A.TIT000	0.4	101100		00.10	00.02		TOTAL D	PO'L AL	00.04

Middle East J. Appl. Sci., *13(3): 422-440, 2023 EISSN: 2706-7947 ISSN: 2077-4613*

Well	D.D.	Q	В	С	Well Loss	Format- ion Loss	Total loss	well	well loss
NO	m	m3/hr	hr/m2	hr2/m5	sw = C*Q2 (m)	Sf =B*Q m	s =(sw+sF) m	efficiency η %	percent s _w %
	Mea	sured			SW	SF	s	(s _F / s)	
	0.28	8.0	0.027270	0.000766	0.04902	0.21816	0.2671	81.65	18.35
	0.74	13.0	0.027270	0.000766	0.12945	0.3545	0.4839	73.25	26.75
W19	1.23	18.2	0.027270	0.000766	0.25372	0.49631	0.7500	66.17	33.83
	1.52	21.8	0.0273	0.0008	0.3640	0.5945	0.9585	62.02	37.98
	1.76	24.4	0.0800	0.0020	0.4560	0.6654	1.1214	59.33	40.67
	2.21	5.0	0.1731	0.0060	0.1504	0.8657	1.0162	85.20	14.80
	4.22	9.2	0.1731	0.0060	0.5093	1.5929	2.1022	75.77	24.23
W 29	6.28	12.5	0.1731	0.0060	0.9402	2.1643	3.1045	69.71	30.29
	8.3	14.8	0.1731	0.0060	1.3180	2.5625	3.8805	66.03	33.97
	9.78	15.86	0.0483	0.0004	1.5136	2.7461	4.2596	64.47	35.53
W 20	1.35	19.0	0.0483	0.0004	0.1507	0.9176	1.0682	85.89	14.11
w 30	2.25	29.40	0.0483	0.0004	0.3609	1.4198	1.7807	79.73	20.27
	3.35	40.60	0.0483	0.0004	0.6882	1.9607	2.6488	74.02	25.98

Table 6: Well hydraulic Parameters (s_F , s_W , s, η and s_W %) for some studied wells

Assessment of well Productivity, well Efficiency and well loss percent to evaluate well design criteria or well hydraulic parameters

Assessment of Actual well specific capacity or well actual productivity (Q/s)_{act}.:

Based on Zekai Sen, classification (1995), Productivity (Q/s) assessment reflects that eleven values are moderate also, one value is good, this, see Table 7.

Well	Average actual prod.	(Q/s) act. < 0.18	0.18≤ (Q/s)act.<1.8	1.8≤ (Q/s)act.<18	18 ≤ (Q/s)act.
NO:	(Q/s)act.	Very Low	Low	Moderate	Good
W19	25.11				Y
W 20	9.02			Y	
W 21	5.56			Y	
W 22	9.30			Y	
W 23	12.24			Y	
W 24	2.53			Y	
W 25	13.51			Y	
W 26	2.02			Y	
W 27	4.39			Y	
W 28	14.85			Y	
W 29	4.17			Y	
W 30	16.02			Y	

Table 7: Assessment of Well Actual Productivity)max. By Zekai Sen; 1995. [17],

Based on Hawash, classification (2012), Productivity (Q/s) assessment illustrates that five values of actual productivity are low, while, two values are low-to-moderate, also four values of actual productivity are moderate, while last one indicated moderate-to-good value, see Table 8 also see Fig. 22.



Fig. 22: Assessment of Well Actual Productivity based on classification of Hawash (2012).

Well	Average actual prod.	(Q/s) _{act.} <2	2≤ (Q/s) _{act.} <6	6≤ (Q/s) _{act.} <12	12 ≤ (Q/s) _{act.} <20	20 ≤ (Q/s)act.<30	30 ≤ (Q/s)act.
NO:	(Q/s)act.	Very Low	Low	Low-to- Moderate	Moderate	Moderate-to- good	Good
W19	25.11					Y	
W 20	9.02			Y			
W 21	5.56		Y				
W 22	9.30			Y			
W 23	12.24				Y		
W 24	2.53		Y				
W 25	13.51				Y		
W 26	2.02		Y				
W 27	4.39		Y				
W 28	14.85				Y		
W 29	4.17		Y				
W 30	16.02				Y		

Table 8: Assessment of Well Actual Productivity based on Hawash S. classification 2012

Assessment of well efficiency (ηw):

Based on Hawash, classification (2012), well efficiency (ηw) could be assessed immediately by Hawash, (2012) Classification, see Table 9 and Figure 23 respectively.

	Efficiency	0 to	15 to	30 to	45 to	55 to	65	80 to	90 to
Well	<u>(%)</u>	15	30	45	55	65	to 80	90	100
<u>No.</u>	η <u>)</u> average	Very Low	Low	Low to Moderate	Moderate	Moderate to good	good	Very Good	Excellent
W19	65.03						Y		
W 20	68.23						Y		
W 21	56.77					Y			
W 22	63.88					Y			
W 23	43.70			Y					
W 24	97.22								Y
W 25	43.28			Y					
W 26	81.88							Y	
W 27	51.07				Y				
W 28	55.65					Y			
W 29	69.15						Y		
W 30	65.70						Y		

Table 9: Assessment of well efficiency based on classification of Hawash, (2012).



Fig. 23: Well efficiency (η_w %) assessement based on classification of Hawash, (2012).

-The results of efficiency classification (Table 8 and Fig. 23), may be as follows; two wells have low to moderate, one well has moderate value, three wells to good values, whereas five values are good, one value is very good and the last one is excellent. Generally, these values are classified as moderate (five values) and good (five values).

1- Well loss percent (sw%) assessment:

The values of well loss percent (sw%) for all the studied wells are calculated and classified as illustrated in Table 10 and Fig. 24.

As a classification result of well loss percent, the values showed that, most of wells (Seven values ranges between 30%–45% i.e. moderate), While one value is good and one is very good; which reflect moderate to good design criteria.

Well	Well loss percent	0 to 15	15 to 30	30 to 45	45 to 55	55 to 70	70 to 85	85 to 100
No.	<u>sw %`</u>	Very good	good	Good to moderate	Moderate	Moderate to bad	Bad	Very Bad
W19	34.97			Y				
W 20	31.77			Y				
W 21	43.23			Y				
W 22	36.12			Y				
W 23	56.30					Y		
W 24	2.78	Y						
W 25	56.72					Y		
W 26	18.12		Y					
W 27	48.93				Y			
W 28	44.35			Y				
W 29	30.85			Y				
W 30	34.30			Y				

Table 10: Assessment of well loss percent s_W% based on Hawash S.; 2012 classification, [7],.



Fig. 24: Well loss percent assessment (sw%) based on Hawash, (2012) classification.

Final assessment of well characteristics or well hydraulic parameters

The average values of B and C, have been used in calculating all well hydraulic parameters (Well characteristics) Table 3, such as: -

Well loss (sw) -Formation loss (s_F), -Total losses (s) -Well Loss percent (s_w)% -Well efficiency (η)% - Specific capacity or productivity (Q/s).

a. Well actual productivity $[(Q/s)_{actual}]_{average}$: (its min. value was 2.02 (m3/hr)/m while max. value was 25.11 (m3/hr)/m)

b. Theoretical productivity[(Q/s) theo.]_{average} : (its min. value was 2.59(m3/hr)/m while max. value was 36.67 (m3/hr)/m)

Well efficiency $(\eta_w)_{average}$: (its min. value was 43.28% while max. value was 97.22%) Well loss percent $(s_w \ \%)_{average}$: (its min. value was 2.78% while max. value was 56.72%)

4. Conclusion

The hydraulic conductivity "K" values of the Marine Kurkar aquifer ranges from 3.287 m/day to 121.617m/day, which pointed to high permeability property of kurkar aquifer. Because of the marine Kurkar aquifer reflects wide range of Transmissivity (612.7 to 7789.73 m^2/day) > 500, the Marine Kurkar aquifer is of high potentiality, based on classification of Georhage, (1979). The storage coefficient values of the Marine Kurkar aquifer ranged between 7.68E-27 and 1.68E-04. The hydraulic diffusivity " D " values of the Marine Kurkar aquifer ranged between 6.514E106 m2/day and 7.968E1028 m2/day. So, El Kharrouba area is characterized by high estimated values of hydraulic diffusivity and this reflects suitable conditions for sustainable reclamation projects under modern irrigation systems. On the other hand, the well characteristics within studied area pointed generally to bad design criteria which lead to a well failure. The wells of numbers (23 and 25) have very bad design criteria because, they have very high values of well loss percent (56.30% and 56.72% respectively) with low values of efficiencies (43.70% and 43.28% respectively). Wells of order (20, 22 and 28) reasonable (moderate) design criteria. Wells of numbers (19 and 30) have good design criteria. The rest wells of orders (21, 24, 26, 27 and 29) have abnormal hydraulic behavior because they have unusual values of productivity (5.56%, 2.53%, 2.02%, 4.39% and 4.17% respectively) in spite of they have moderate to good values of efficiencies (56.77%, 97.22%, 81.88%, 51.07% and 69.15 respectively) and low to moderate values of well loss percent (43.23%, 2.78%, 18.12%, 48.93% and 30.85% respectively).

5. Recommendations

More and deep studies are highly recommended to explain and investigate the abnormal hydraulic behavior for wells of orders (21, 24, 26, 27 and 29) because they have unusual values of productivity ranged from 2.02% to 5.56%, in spite of they have moderate to good values of efficiencies ranged from 56.77% to 97.22%, and low to moderate values of well loss percent ranged from 2.78% to 48.93%.

- It's very important to complete the present study (Quantitative evaluation) by carrying out (Qualitative study) for the same studied area.

- Well safe productivity should be controlled by both decreasing the closing number of drilled wells to prevent abstraction overlapping or/and prevent excessive drawdown.

- The redesigned wells so urgent for some wells of bad design criteria, using more scientific and ideal procedures.

Acknowledgement

Author would like to express his sincere appreciation and great gratitude to Dr. Eng. Said A. F. Hawash, for his continuous guidance, help and encouragement throughout this work.

Also, author dedicate this paper to him for his fruitful advices, cooperation and scientific support during both of experimental, practical and office works.

References

- Cooper, H. H. and C.E. Jacob, 1946: A generalized graphical method for evaluating formation constants and summarizing well field history.", Am. Geophys. Union. Trans., 27, 526-534.
- Gedamy, Y. R. A., 2004. Geochemical studies of the groundwater in North-East Sinai area, Egypt.", Ph.D. Thesis, Fac. Sci., Ain Shams Univ., Cairo, Egypt, 821p.
- Georhage, A., 1979. In Processing and Synthesis of Hydrogeological Data.", Abacus Press, 390p.
- GWW Software, (Grounwater under windows), Version 1998, upgraded 2008.

- Hammad, F. A., 1980. Geomorphological & hydrogeological aspects of Sinai Peninsula.", Ann. Geol. Survey of Egypt, Vol. X, 11p.
- Hassan, E. M. S., 2009. Hydrological study on the Quaternary aquifer in El-Arish Rafah area Sinai Peninsula –Egypt. M. Sc. Thesis Geology, Department of Geology, Faculty of Science, Al-Azhar University (Assiut Branch), 267 p.
- Hawash, S. A. F., 2012. Water resources management by applying mathematical modeling techniques in northeastern portion of Sinai Peninsula, Egypt. Ph.D. thesis of Mechanical Engineering, Mechanical Power Department, Faculty of Engineering, Ain Shams University, 567 p.
- Japan International Cooperation Agency (JICA), 1992. North Sinai groundwater resources study in the Arab Republic of Egypt. Final report submitted to the Research Institute for Water Resources, Egypt, 207p.
- Jacob, C. E., 1944. Notes on determining permeability by pumping tests under water-table conditions. U.S. Geological Survey, Publisher: The Author, Jamaica, N.Y., 1944, OCLC Number / Unique Identifier: 28211298, 25p
- Jacob, C. E. and W. H. Bierschenk, 1964. Determining well efficiency by multiple stepdrawdown tests.", publication 64.1, International Association of scientific hydrology.
- Kranz, R. L., J. S. Saltzaman, and J. Blacia, 1990. Hydraulic diffusivity measurements on laboratory rock samples using an oscillating pore pressure method. Elsevier Ltd. 90 : 9062-9270.
- Rabi, A. M. A., 2021. Deterioration causes of some groundwater wells in the Eastern Sahara Desert", M.Sc. Degree, Faculty of African Postgraduate Studies, Cairo university, 2021.
- Research Institute for Water Resources (RIWR), 1988. Groundwater management study in El Arish Rafah plain area. Phase 1, Vol.11, Cairo, Egypt, 166p.
- Rorabough, M. I., 1953: Graphical and theoretical analysis of step drawdown tests of artesian wells, Proc. ASCE, 79, 1.
- Shlumberjer, 2016. Aquifer Test Pro. Software, Waterloo Inc., Version 2016.
- Taha, A. A. M., 1968. Geology of the groundwater supplies of El Arish-Rafah area, northeast Sinai, U.A.R. M.Sc. Thesis, Fac. Sci., Cairo Univ., Egypt. 129p.
- Zekai Sen; 1995. Applied Hydrogeology for Scientists and Engineers. Lewis publishers, C.R.C. Press, Inco., Florida, U.S.A., 301 p.